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GENERAL INSTRUCTIONS TO THE E W :

X

Candidate must write first his / her Roll No. on the question paper compulsorily.
2) usft we e rfar £ | | /‘
All the questions are compulsory.
(3) e WeA o 3T & TS Iel-gieRt # € fad |
Write the answer to each question in the given answer-book only.
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For questions having more than one part, the answers to those parts are to pe written

together in continuity.

5) m-m%%ﬁa@ﬁaﬁ@ﬁ%@maﬁg&/m/ﬁﬁum@w@m%ﬁ
I TE T |

If there is any error / difference / contradiction in Hindi & English versions of the
question paper, the question of Hindi version should be treated valid,

(6) mww.ﬁr@%ﬁqﬁmmm T Q?*
Write down the serial number of the §estion before attempting it
% 1\%1& pting
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SECTION - A
1. wgfrmed e
Multiple Choice Questions :
() i iR i e e T T 2
(37) =feai % wan
(¥) ws=iFwr
(|) 3ttt o arerrst o = AR
(3) ==t % went

In rural settlements circular pattern found —
(A) Along rivers

(B) Along roads

(C) Around lakes and tanks

(D) Along canals
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(ii) W PR 6 FaEE fha it | ?

(31) 1 1@ 8 HH STEET (€) 10 9@ ¥ 50 R SHEEAT
(") 50 g 4§ 31fees sEEn (2) 1@ Y 10 ARG SHEET
What is the population of Mega City ? 1

(A) Population less than one lakh  (B) 10 lakhs to 50 lakhs population
(C) Population more than 50 lakhs (D) 1 lakh to 10 lakhs population

(iii) “TefreeEETe” e fhe wifea Fr 7

(31) fiftper oem (@) TS

(|) T Hi. d9e e (®) Tree-di-an s

Who propounded the concept of “Neodeterminism” ? 1
(A) Griffith Taylor (B) Ratzel

(C) Ellen C. Semple - (D) Vidal-de-la Blache

(iv) T T ST I E —

(37) T goa
(@) et Wl
Pull factor of M@%ﬂ% gl 1
(A) Political turmoil (B) Natural disasters
(C) Epidemics (D) Better job opportunities
(v) Wi 5fy B gaesiier 8 3 T 3 %1 5F S A T67 B g ?
(31) T Hgmwt wreA (@) dirHe® WIS
(®) i wemm we (g) forer wes weT
Which organisation does the work of road construction in strategically Sensitive
areas ? i

(A) State Highways Organisation

(B) Border Road Organisation

(C) National Highways Organisation

(D) District Road Organisation
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(vi) T 3T S R -

(30) FigeaatIam (&) U-TEE 3

(®) dfzmm (7) wire-3aTd Sem
-~ Knowledge based industry is —

(A) Software Industry (B) Petro-chemical Industrieg
(C) Sugar Industry (D) Iron and Steel Industry

(vii) Fr=frRea 4 9 lie- s w1 veR R
(31) fermse
(W) BHee
Which of the following is a type of iu_
(A) Lignite

| AN
(C) Haematite QQ{

(viii) T 1 HEe & — |
(31) = (9) ot
@) % - (®) wmEw
Kharif crop is —
(A) Gram (B) Mustarq
(C) Wheat (D) Rice

() 2011 5t srrrorer 26 STFE FHH ST ey 1

TR
(31) ey qamrer @) famn a
(%) Hﬁ‘aq-g (%) SRy
According to 2011 census, which state hag the highegt Bop T
(A) West pengal (B) Bihgr Pulatiop density o
©) Tami| Nadu D) Uttar Pradegy
4-GeoL.
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Fill in the blanks :. ,
() foea & s=ram R AHIE |
has the highest sex-ratio in the world. 1

(i) s § ST 1 el ad & |

—_plantations in Brazil are called Fazenda. 1
(i) TR 3 37 wferee 1 yeaid @ el
Alr transport in India made a beginning in year ; | 1
(iv) SR e 3 fore MW%W% _ - T gemn
S, _?l 5

“Arwarj Pani Sansad Program” for watershed management was conducted in

—_ district of Rajasthan. 1

3. TR s .

Very Short Answer Type Questions :
() W wafewre et 3 < sarewn Gt |

Give two examples of personal means of communication.
(i) - e s e 3 7

What is retail trading ?
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(iii) TRR SFEE | 3179 1 T § 7

What do you understand by constant population ?

(iv) WWQ@WWHWW%W%WW@%HWWW& ;

Which mode of transport would you suggest to transport liquig
substances over a long distance ?

g -§
SECTION - B
RIS T :

Short Answer Type Questions :

St Eal % 79 R |
P

Which renewable energy resourc@rou

Id you su
- y 8ECSt to saye exhaustip)e
energy ? Write the name of any two sources of energy. R

5. WRAH ‘G’ & o Iqrew Rk |

Write two examples of “Mining Town” in India.

" alTd % IS 2 3ffen ftom Rerfig |

Write any tWO economic consequences of Migration,
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S e R sy 3 P 3 R Rt T ) e TR A 7 R Q) et 3

fafag |

Which factors do you consider responsible for the degradation of cultivable land ? Write

the name of any two factors, Zax2=1%

g, TV ST % Reedi @ weprl T Seera HINTT |

Mention any two types of rural settlement. Yax2=1%

9. mﬁmﬁmwwﬁﬁ 7 @ ?
> i’-’:&
What do yoy underStﬁEf% onmental determinism ? | 1%

10. T Y weyrfy e e 2 et 36 A FARAT |

Write the names of two factors affecting tourism. Yax2=1Y

11 Ao St <6 18 o et sare |

State any two problems of rural settlement. Yax2=1%

12, 3R ipriver 3 fepeell <fiw Swdnit 3 T faere |

Write the names of any three sub-fields of economic geography. y,x3=1%
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13. STE HIaH &l W8 HifT |

Explain Outsourcing, 1%

| 14, 991" 9 39 w1 e

1
What do you understand by “Conurbation™ ? ¥

LS. ¥ sifireh 37 ey srfires & 37 e 1w |

1%
QT I g l
Long Angye; Type Questions :
16.. ST e - 20027 < ol o e ferraaad] 1 et i |
Mention any three key features of the ~Indian National Water Policy-2002". 1x3=3

%31/ 0R
2ol T Sty 5 < o e fefare |

& i so arvesting.
Wri i€ Ay three advantages of rain water harvesting
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F T T mamﬁwaﬁqawﬁﬁaﬂhﬁq |

Describe any three industries based on raw material.

372/aT/ OR |
W%@ﬁﬁ%?ﬁﬂﬂ@ﬂﬁ@%ﬁaﬁﬁﬁwml

i i i ize.
Define manufacturing. Discuss any two industries based on s

3 7 gHgTed |

ation change ? Explain it.

Wqﬁaﬁ?%mﬁ—ﬁ@

What are the components of popul

Fyar/OR

W%Wﬁgﬂﬁﬁ$@mﬁ?ﬁ39

Exblain three economic factor@é‘ﬁi g the distribution of popu{anon.

4
)

@us —q
SECTION - D
ey a9
Essay Type Questions - ,
ST HIfT |
T 3 <fefy gt et fre A1 T
nd distribution of Sugar Industries in India..
a

Explain in detail the location

arerar/OR

TG 3 e} oy ararefe P

: : o Pactors
Discuss in detail any four fa

1x3=3

1+1X2=3

1x3=3

2x2=4

Wﬁmﬁ%wmﬁﬁwﬁéﬂmmu

affecting the location of industries in India.

1x4=4
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20. & Fate HiY 7 foreqa anforer s i o gormers faem it |

Make a comparison between intensive subsistence agriculture and extensive commercial

grain farming,

31%E1/OR

1x4=4

5 o s 2 7 e iy < et 8 7 e i

What is plantation agriculture ? Discuss the characteristics and areas of plantation agriculture.

1+1%x2=4

T ST 21§ 22 HHTE w1 § Seid § | T I 2 FH H1E |

Question Nos. 21 to 22 are related to map-work carryjag 2in

Torva wet wE % Sueres s T G- mﬁﬁ‘lﬁﬁii

Attach the given outline maps of Worl%ﬁ'lg«lrrdla with the answer-book.

gs-1

3\¥

WWW%%@—QﬂﬁMwmﬁﬁﬁmﬁm

(37) wad
(%) 3eEgR

(W) Rmm
(2) e

Mark the location of the following copper production areas on the given outline Map of the

India :

(A) Khetri
(B) Udaipur
(C) Singbhum

(D ) Bhilwara
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%qmﬁﬁ%%m—mﬁﬁﬁw%ﬁﬁ?mﬂm%ﬁﬁmﬁm:
(37) =geiieivs

(5) Iaf-ufvad g0d

(@) ol sHefer

() TSl

A%

Mark the location of the fﬂél% 9 o
5 T L% o

the World : _ o0 ¥

(A) NeMghlen

(B) North-Western Europe
(C) South-Eastern Australia

(D) Canada

e farming areas on the given outline Map of

Vix4=2
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Outline Map of the World
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